

Daily Practice – 1

$$1,276 + 3,897 = 5173$$

 $7,632 - 2,875 = 4757$
 $534 \times 5 = 2670$
 $565 \div 5 = 113$

$$\frac{1}{3} + \frac{4}{3} = \frac{5}{3}$$

$$234 \div 100 = 2.34$$

$$4 \times 5 \times 2 = 40$$

Early Bird Maths - Daily practice



Here are the first 5 days for your Early bird maths.

Complete one set of questions a day, writing your answers directly onto the sheet. For many of the questions you will need to complete some calculations i.e column addition, bust stop method etc. There are several sheets of squared paper included in the pack for you to complete your methods of calculation on.



Daily Practice – 2

$$8,719 + 1,075 = 9794$$

$$5,098 - 4,874 = 224$$

$$123 \times 3 = 369$$

$$261 \div 3 = 87$$

$$\frac{2}{5} + \frac{1}{5} = \frac{3}{5}$$

$$156 \div 100 = 1.56$$

$$3 \times 6 \times 3 = 54$$



Daily Practice – 3

$$4,231 + 5,890 = 10121$$

$$5.617 - 2.818 = 2799$$

$$769 \times 4 = 3076$$

$$628 \div 4 = 157$$

$$\frac{4}{9} + \frac{1}{9} = \frac{5}{9}$$

$$9.8 \div 10 = 0.98$$

$$9.8 \times 1,000 = 9800$$

$$3 \times 2 \times 5 = 30$$



Daily Practice – 4

$$1,098 + 5,389 = 6487$$

$$6,783 - 1,398 = 5385$$

$$742 \div 6 = 123 \text{ r4}$$

$$\frac{7}{10} + \frac{2}{10} = \frac{9}{10}$$

$$78.2 \div 100 = 0.782$$

$$10 \times 3 \times 3 = 90$$



Daily Practice – 5

$$1,301 + 7,322 = 8623$$

$$5,008 - 1,876 = 3132$$

$$624 \div 8 = 78$$

$$\frac{3}{7} + \frac{4}{7} = \frac{7}{7}$$

$$0.876 \div 10 = 0.0876$$

$$0.876 \times 1000 = 876$$

$$2 \times 6 \times 3 = 36$$



Daily Practice – 6

7,654 + 2,698 = 10352

2,301 - 1,159 = 1142

 $124 \times 5 = 620$

 $343 \div 7 = 49$

 $\frac{5}{3} + \frac{2}{3} = \frac{7}{3}$

1921 x 100 = 192100

 $1921 \div 1000 = 1.921$

 $3 \times 3 \times 3 = 27$

Early Bird Maths – Daily practice



Here are the next 5 days for your Early bird maths.

As before, complete one set of questions a day, writing your answers directly onto the sheet. For many of the questions you will need to complete some calculations i.e column addition, bust stop method etc. There are several sheets of squared paper included in the pack for you to complete your methods of calculation on.

Daily Practice – 7

67,134 + 72,807 = 139941

134.9 - 65.8 = 69.1

235 x 6 = **1410**

 $1,112 \div 4 = 278$

 $\frac{3}{4} - \frac{1}{4} = \frac{2}{4}$

 $741 \div 1,000 = 0.741$

741 x 100=**74100**

 $60 \times 8 = 480$



Daily Practice – 8

890.04 + 137.99 = 1028.03

9,087 - 4,278 = 4809

 $346 \times 8 = 2768$

 $7,842 \div 2 = 3921$

 $\frac{7}{10} - \frac{3}{10} = \frac{4}{10}$

 $1.47 \times 100 = 147$

 $1.47 \div 10 = 0.147$

 $6 \times 90 = 540$



Daily Practice – 9

78,605 + 22,506 = 101111

567.35 - 275.44 = **291.91**

532 x 3 = 1596

 $1,075 \div 5 = 215$

 $\frac{5}{5} - \frac{2}{5} = \frac{3}{5}$

 $48.3 \div 100 = 0.483$

48.3 x 1,000 = 48300

 $70 \times 4 = 280$

Daily Practice – 10

52,086 + 13,874 = 65960

5,341 - 3,896 = 1445

74 2 x 6 = 4452

 $4,371 \div 3 = 1457$

 $\frac{5}{7} - \frac{1}{7} = \frac{4}{7}$

 $0.0149 \times 1,000 = 14.9$

 $1.49 \div 10 = 0.149$

 $5 \times 80 = 400$







